
 

BIHAR BOARD QUESTION PAPER  
हिन्दी माध्यम / ENGLISH MEDIUM 

INTERMEDIATE EXAMINATION - 2022 
इंटरमीडिएट परीक्षा - 2022 

(ANNUAL / वार्षिक)  

ACCOUNTANCY  
 

समय : 3 घॊटे 15 ममनट]        [परू्णांक : 100 
 

परीऺणर्थियों के मऱए ननरे्दश : 

1. परीऺणथी OMR उत्तर पत्रक पर अपनण प्रश्न पसु्तिकण क्रमणॊक (10 अॊकों कण) अवश्य 
मऱखें। 

2. परीऺणथी यथणसॊभव अपने शब्र्दों में ही उत्तर र्दें। 

3. र्दणहहनी ओर हणमशये पर हर्दये हुए अॊक परू्णांक ननहर्दिष्ट करिे हैं। 
4. प्रश्नों को ध्यणनपवूिक पढ़ने के मऱए परीऺणर्थियों को 15 ममनट कण अनिररक्ि समय 
हर्दयण गयण है। 

5. यह प्रश्न पसु्तिकण र्दो खण्डों में है- खण्ड 'अ' एवॊ खण्ड 'ब'। 

6. खण्ड 'अ' में 100 वतिुननष्ठ प्रश्न हैं, स्जनमें से ककनहीॊ 50 प्रश्नों कण उत्तर रे्दनण 
अननवणयि है। पचणस से अर्िक प्रश्नों के उत्तर रे्दने पर प्रथम 50 उत्तरों कण ही मलूयणॊकन 
ककयण जणएगण। प्रत्येक प्रश्न के मऱए 1 अॊक ननिणिररि है। सही उत्तर उपऱब्ि करणये गए 
OMR उत्तर-पत्रक में हर्दये गये सही वतृ्त को नीऱे / कणऱे बॉऱ पेन से भरें। ककसी भी 
प्रकणर के ह्वणइटनर / िरऱ पर्दणथि / ब्ऱेड / नणखून आहर्द कण उत्तर पत्रक में प्रयोग करनण 
मनण है, अनयथण परीऺण पररर्णम अमणनय होगण। 

7. खण्ड-ब में 30 ऱघ ुउत्तरीय प्रश्न है। प्रत्येक प्रश्न के मऱए 2 अॊक ननिणिररि है, 
स्जनमें से ककनहीॊ 15 प्रश्नों कण उत्तर रे्दनण अननवणयि है। इनके अनिररक्ि इस खण्ड में 
र्दीघि उत्तरीय 8 र्दीघि उिररय प्रश्न हर्दये गये हैं, प्रत्येक के मऱए 5 अॊक ननिणिररि है, 
स्जनमें से ककनही 4 प्रश्नों कण उत्तर रे्दनण है | 
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8. ककसी प्रकणर के इऱेक्रॉननक उपकरर् कण प्रयोग परू्िियण वस्जिि है। 

SECTION-A 

प्रश्न सॊख्यण 1 से 100 िक के प्रश्न के सणथ चणर ववकलप हर्दए गए हैं, स्जनमें, से एक 
सही है। ककनहीॊ 50 प्रश्नों के उत्तर र्दें। अपने द्वणरण चनेु गए सही ववकलप को OMR 
शीट पर र्चस्ह्नि करें। 
 

1. A, B और C, 3 : 2 : 1 के अनपुणि में ऱणभ बणॉटिे हैं। C अवकणश ग्रहर् करिण है। 
प्रणस्ति अनपुणि होगण 

(a) 2:1 

(b) 2:3 

(c) 3:2 

(d) 1:2 
 

2. यहर्द आर्थिक र्चट्ठण में ख्यणनि ववद्यमणन हो िो इसे के्रडडट ककयण जणिण है। 

(a) ऱणभ प्रणस्ति करने वणऱे सणझरे्दणर के खणिे में 
(b) अवकणश ग्रहर् करने वणऱे सणझरे्दणर के खणिे में 

(c) सभी सणझरे्दणरों के पूॉजी खणिे में 

(d) शषे सणझरे्दणरों के खणिे में 
 

3. आय व्यय खणिण िैयणर ककयण जणिण है। 

(a) कम्पनी द्वणरण  

(b) सणझरे्दणरी फमि द्वणरण 

(c) एनजीओ द्वणरण 

(d) बीमण कम्पनी द्वणरण 

 

4. ननम्न में कौन ऱणभर्दणयकिण अनपुणि नहीॊ है ? 
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(a) सकऱ ऱणभ अनपुणि 

(b) शदु्ि ऱणभ अनपुणि 

(c) चणऱ ूअनपुणि 

(d) सॊचणऱन अनपुणि 

 

5. एक क्ऱब द्वणरण कक्रकेट मचै के मऱए प्रणति चनर्दण मणनण जणिण है 

(a) आयगि प्रणस्ति 

(b) सम्पवत्त 

(c) उपणस्जिि आय 

(d) पूॉजीगि प्रणस्ति  

 

6. चणऱ ूअनपुणि 1 : 2 चणऱ ूर्दणनयत्व 50,000 रु०, िो चणऱ ूसम्पवत्त कण मलूय होगण 

(a) 1,00,000 रु. 

(b) 50,000 रु.  
(c) 25,000 रु. 

(d) 75,000 रु. 

 

7. सम-ववच्छेर्द बबनर्द ुउस बबनर्द ुको कहिे हैं, जहणॉ 

(a) कुऱ ऱणगि कुऱ बबक्री से अर्िक हो 

(b) कुऱ ऱणगि कुऱ बबक्री से कम हो 

(c) कुऱ ऱणगि कुऱ बबक्री से आिी हो 

(d) कुऱ ऱणगि कुऱ बबक्री के बरणबर हो 

 

8. ऋर्पत्रों के शोिन पर प्रीममयम है 

(a) व्यस्क्ि खणिण 
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(b) वणतिववक खणिण 

(c) नणममणत्र खणिण 

(d) उचनि खणिण 
 

9. ऋर्-पत्रों के ननगिमन पर हणनन को हर्दखणयण जणिण है। 

(a) र्चट्टे के सम्पवत्त पऺ में 

(b) र्चट्ठे के र्दणनयत्व पऺ में 

(c) ऱणभ एवॊ हणनन खणिे के के्रडडट पऺ में 

(d) इनमें से कोई नहीॊ 
 

10. सणमणनय सॊचय को आर्थिक र्चट्ठे में ककस शीषिक के अनिगिि हर्दखणयण जणयेगण 

(a) ववववि व्यय 

(b) अॊश पूॉजी 

(c) सॊचय एवॊ आर्िक्य 

(d) इनमें से कोई नहीॊ 
 

11. ननम्न में से कौन सॊचणऱन कक्रयणओॊ में शणममऱ होिण है ? 

(a) आयकर कण भगुिणन 

(b) ग्रणहकों से वसऱूी 

(c) आपनूििकत्तणिओॊ को नकर्द भगुिणन 

(d) इनमें से सभी 
 

12. आयकर कण वणपसी रोकड़ कण है 

(a) स्रोि  

(b) प्रयोग 

(c) (a) और (b) र्दोनों 
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(d) इनमें से कोई नहीॊ 

 

13. रोकड़ प्रवणह वववरर् िैयणर ककयण जणिण है 

(a) अनिररक्ि सचूनणओॊ से 

(b) ऱणभ-हणनन खणिे से 

(c) आर्थिक र्चट्टे से 

(d) इनमें से सभी 

 

14. सणझरे्दणरों की पूॊजी पर ब्यणज है 

(a) व्यय 

(b) ववननयोजन 

(c) ऱणभ 

(d) इनमें से कोई नहीॊ   

 
15. आर्थिक र्चट्टे कण रोकड़ शषे फमि के समणपन के समय हर्दखणयण जणिण है 

(a) वसऱूी खणिे में  

(b) रोकड़ खणिे में 

(c) पूॉजी खणिे में 

(d) ककसी भी खणिे में नहीॊ 

 

16. कॊ पनी के वणतिववक तवणमी कौन है ? 

(a) समिण अॊशिणरी  

(b) पवूणिर्िकणर अॊशिणरी 

(c) ऋर्पत्रिणरी 

(d) (a) और (b) र्दोनों 
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17. चणऱ ूसम्पवत्त में कौन मर्द शणममऱ होिण है ? 

(a) पेटेनट 

(b) ववननयोग 

(c) तटॉक  

(d) मशीन  

 

18. तथणयी सम्पवत्तयों को हर्दखणयण जणिण है 

(a) वसऱूी मलूय पर 

(b) ऱणगि मलूय ह्रणस घटणकर  

(c) ऱणगि मलूय पर 

(d) वसऱूी मलूय ह्रणस घटणकर 

 

19. चणऱ ूसम्पवत्त में शणममऱ नहीॊ है। 
(a) तटॉक 

(b) रे्दनर्दणर 

(c) कणर 

(d) इनमे से कोई नहीॊ  

 

20. कम्पनी अर्िननयम के ककस िणरण के अनिगिि कॊ पनी कण ववत्तीय स्तथनि वववरर् 
बनणयण जणिण है 

(a) 128 

(b) 129 

(c) 209 

(d) 212 
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21. मसॊककॊ ग फण्ड एक हहतसण है 

(a) तथणयी र्दणनयत्व कण 

(b) चणऱ ूर्दणनयत्व कण 

(c) सॊचय एवॊ अर्िक्य कण 

(d) तथणयी सम्पवत्त कण 

 

22. ख्यणनि के मलूयणॊकन की प्रचमऱि ववर्ि है 

(a) औसि ऱणभ ववर्ि 

(b) अर्िऱणभ ववमभ 

(c) पूॉजीकरर् ऱणभ ववर्ि 

(d) इनमें से सभी 

 

 
23. ववशषे उद्रे्दश्य के मऱए प्रणति र्दणन हर्दखणयण जणयेग 

(a) आय-व्यय खणिे में 

(b) प्रणस्ति एवॊ भगुिणन खणिे में  

(c) र्चट्टे के र्दणर पऺ में 

(d) र्चट्टे के सम्पनि पऺ में 

 

24. प्रणस्ति एवॊ भगुिणन खणिण सणमणनयियण र्दशणििण है 

(a) आर्िक्य 

(b) पूॉजी कोष 

(c) डबेबट शषे 

(d) के्रडडट शषे 
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25. सणझरे्दणरी अनबुॊि में पररवििन कण पररर्णम है 

(a) फमि कण पनुगिठन 

(b) फमि कण समणपन 

(c) फमि कण एकीकरर् 

(d) इनमें से कोई नहीॊ 

 

26. एक क्ऱब द्वणरण प्रणति आजीवन सर्दतयिण शलुक को हर्दखणयण जणिण है  

(a) आय-व्यय खणिे में 

(b) आर्थिक र्चट्ठण में 

(c) प्रणस्ति एवॊ भगुिणन खणिे में 

(d) आय खणिे में 

 

27. अध्यऺ को हर्दयण गयण मणनरे्दय है। 
(a) पूॉजीगि व्यय 

(b) आयगि व्यय 

(c) तथर्गि व्यय 

(d) आय 

 

28. ककसी सणझरे्दणरी फमि में नये सणझरे्दणर के प्रवेश होने पर क्यण प्रभणव पड़गेण ? 

(a) परुणने फमि कण ववघटन होगण 

(b) परुणने फमि और परुणनी सणझरे्दणरी कण ववघटन होगण 

(c) परुणनी सणझरे्दणरी पनुगिहठि होगी 

(d) इनमें से कोई नहीॊ 
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29. A और B बरणबर-बरणबर के सणझरे्दणर हैं। वे C को 1/5 भणग के मऱए प्रवेश करणिे है 

स्जससे ख्यणनि के मऱए 25,000 रु० कण योगर्दणन हर्दयण। फमि की ख्यणनि कण मलूय होगण 

(a) 2.50,000 रु० 

(b) 50,000 रु० 

(c) 1,00,000 रु० 

(d) 1.25.000 रु० 

 

30. ऱणभ-हणनन समणयोजन खणिण है 

(a) व्यस्क्िगि खणिण 

(b) नणममणत्र खणिण 

(c) वणतिववक खणिण 

(d) इनमें से कोई नहीॊ 

 
31. ऱणभणॊश सणमणनयियो हर्दयण जणिण है। 

(a) अर्िकृि पूॉजी पर 

(b) ननगिममि पूॉजी पर 

(c) प्रर्दत्त पूॉजी पर 

(d) मणॉगी गई पूॉजी पर 

 

32. अर्िकणर अॊश ननगिममि ककये जणिे हैं 

(a) प्रवििकों को 

(b) पररवििनीय ऋर्पत्र िणरकों को  

(c) ववद्यमणन अॊशिणररयों को 

(d) इनमें से सभी 
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33. सणिणरर्ियण कम्पनी कण वणवषिक प्रनिवेर्दन प्रकणमशि ककयण जणिण है 

(a) ववत्तीय वषि के प्रथम हर्दन 

(b) ववत्तीय वषि के अॊनिम हर्दन 

(c) ऱेखणॊकन वषि के परूण होने पर 

(d) इनमें से कोई नहीॊ 

 

34. एक कम्पनी कण ननमणिर् होिण है। 

(a) सॊसर्द के ववशषे अर्िननयम द्वणरण 

(b) कम्पनी अर्िननयम द्वणरण 

(c) ननवेशकों के समझौिे द्वणरण 

(d) सर्दतयों के द्वणरण 

 

35. एक नई कम्पनी अपने अॊशों कण ननगिमन नहीॊ कर सकिी 
(a) सम मलूय पर 

(b) प्रीममयम पर 

(c) कटौिी पर 

(d) अॊककि मलूय पर  

 

36. ननम्न में कौन-सी ववत्तीय वववरर् की सीमण नहीॊ है ? 

(a) शदु्ििण की कमी 

(b) भिूकणऱीन िथ्यों पर आिणररि 

(c) मलूयणॊकन कण आिणर 

(d) ऱणभ-हणनन की सचूनण 
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37. रोकड़ प्रवणह वववरर् कण बनणनण है 

(a) अननवणयि 

(b) अनशुणसनणत्मक 

(c) कम्पनी अर्िननयम के अनिगिि वणॊनछि 

(d) इनमें से कोई नहीॊ 

 

38. ननम्न में से कौन-सण मर्द रोकड़ िुलय नहीॊ मणनण जणिण है ? 

(a) बैंक में रोकड़ 

(b) व्यणपणररक प्रपत्र 

(c) रेजरी बबऱ 

(d) ववननयोग 

 

39. ननम्न में से कौन रोकड़ बहहवणिह कण उर्दणहरर् नहीॊ है ? 
(a) ऋर्ों कण पनुभुिगिणन  

(b) ऱेनर्दणरों में कमी 

(c) ऋर्पत्रों कण ननगिमन 

(d) इनमें से कोई नहीॊ 

 

40. एक ववत्तीय कम्पनी द्वणरण ननवेश पर प्रणति ब्यणज को हर्दखणयण जणिण है। 

(a) सॊचणऱन कक्रयण के अनिगिि  

(b) ननवेश कक्रयण के अनिगिि 

(c) ववत्तीय कक्रयण के अनिगिि 

(d) रोकड़ एवॊ रोकड़ समिुलय 
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41. फमि के समणपन पर सबसे अॊि में कौन खणिण बनणनण चणहहए ? 

(a) वसऱूी खणिण 

(b) सणझरे्दणरों के पूॉजी खणिे  

(c) रोकड़ खणिण 

(d) सणझरे्दणरों के ऋर् खणि े

 

42. पनुमूिलयणॊकन खणिण कण शषे परुणने सणझरे्दणरों के पूॉजी खणिों में हतिणनिररि ककयण 
जणिण है। 

(a) परुणने ऱणभ-ववभणजन अनपुणि में 

(b) नये ऱणभ-ववभणजन अनपुणि में 

(c) समणन अनपुणि में 

(d) पूॉजी अनपुणि में 

 
43. A और B एक फमि में सणझरे्दणर हैं। C कण प्रवेश 1/4 हहतसण के मऱए होिण है। A 
और B कण त्यणग अनपुणि होगण 

(a) 1:1 

(b) 1:2 

(c) 2:1 

(d) 1:4 

 

44. सणझरे्दणरों द्वणरण फमि कण ऐस्च्छक समणपन ककयण जण सकिण है 

(a) ¾ सर्दतयों के ननर्िय पर 

(b) आिे सर्दतयों के ननर्िय पर 

(c) बहुमि के आिणर पर 
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(d) इनमें से कोई नहीॊ 

 

45. वसऱूी खणिे के ऱणभ/हणनन कण बॉटवणरण सणझरे्दणरों में ककयण जणिण है। 

(a) ऱणभ ववभणजन अनपुणि में 

(b) पूॉजी अनपुणि में 

(c) बरणबर-बरणबर 

(d) इनमें से कोई नहीॊ 

 

46. फमि के ववघटन पर सणझरे्दणरों के ऋर् खणिे को हतिणॊिररि ककयण जणिण है 

(a) वसऱूी खणिे में  

(b) सणझरे्दणरों के पूॉजी खणिे में 

(c) सणझरे्दणरों के चणऱ ूखणिे में 

(d) इनमें से कोई नहीॊ 

 
47. व्यवसणय की प्रमसद्र्ि के मौहिक मलूय को कहिे हैं 

(a) अर्िशषे 

(b) ख्यणनि 

(c) अर्िऱणभ 

(d) असणमणनय ऱणभ 

 

48. ननम्न में से ककसे वसऱूी खणिे में हतिणनिररि नहीॊ ककयण जणिण है ? 

(a) ऱेनर्दणर 

(b) रे्दनर्दणर 

(c) वसऱूी व्यय 

(d) नकर्द शषे 
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49. फमि के ववघटन पर ककसी सणझरे्दणर द्वणरण वसऱूी खचि चकुणने पर कौन-सण खणिण 
डबेबट होगण ? 

(a) रोकड़ खणिण 

(b) सणझरे्दणर के पूॊजी खणि े

(c) वसऱूी खणिण 

(d) ऱणभ-हणनन खणिण 

 

50. ववववि ऱेनर्दणर 10,000 रू थे। इनहें 5% छूट पर भगुिणन ककयण गयण। वसऱूी खणिे 
को डबेबट ककयण जणयेगण 

(a) 10,000 रु. 

(b) 9,500 रु 

(c) 500 रु० 

(d) 10,500 रु० 
 

51. सणझरे्दणरी फमि के पनुगिठन पर सम्पवत्तयों के मलूय में वदृ्र्ि कण पररर्णम 

(a) वििमणन सणझरे्दणरों को ऱणभ 

(b) वििमणन सणझरे्दणरों को हणनन कोई नहीॊ 

(c) वििमणन सणझरे्दणरों को न ऱणभ न हणनन 

(d) इनमें से कोई नहीॊ  

 

52. परुतकणर कोष से सम्बस्निि आय एवॊ व्यय को हर्दखणयण जणिण है 

(a) आय एवॊ व्यय खणिे में  

(b) र्चट्टे के सम्पनि पऺ में 

(c) र्चट्ठे के र्दणनयत्व पऺ में 
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(d) रोकड़ खणिण में 

 

53. आय-व्यय खणिण में ऱेखण ककए जणने वणऱे ऱेन-रे्दन होिे हैं 

(a) केवऱ पूॉजीगि प्रक्रनि के 

(b) केवऱ आयगि प्रक्रनि के 

(c) आयगि एवॊ पूॉजीगि प्रकृनि र्दोनों के 

(d) इनमें से कोई नहीॊ 

 

54. ननम्न में से कौन आय नहीॊ है ? 

(a) चनर्दण 

(b) र्दणन 

(c) हटकट की बबक्री 

(d) एण्डोमेनट फण्ड 

 
55. चणऱ ूअनपुणि है 

(a) कक्रयणशीऱिण अनपुणि 

(b) ऱणभर्दणयकिण अनपुणि 

(c) िरऱिण अनपुणि  

(d) शोिन ऺमिण अनपुणि 

 

56. आर्दशि िरऱ अनपुणि है 

(a) 2:1 

(b) 1:1 

(c) 0.5:1 

(d) 1:5 
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57. आर्थिक र्चट्ठे में अॊश पूॉजी को ककस शीषिक के अनिगिि हर्दखणयण जणिण है ? 

(a) अर्िकृि पूॉजी 

(b) ननगिममि पूॉजी 

(c) प्रर्दत्त पूॉजी 

(d) अॊशिणरी कोष 

 

58. ववत्तीय वववरर् होिे हैं 

(a) प्रत्यणमशि िथ्य 

(b) मऱखखि िथ्य 

(c) अनमुणननि िथ्य 

(d) इनमें से कोई नहीॊ 

 

59. कॊ पनी की वणवषिक ररपोटि मखु्यि् जणरी की जणिी है  
(a) सॊचणऱकों के मऱए 

(b) अॊकेऺक के मऱए 

(c) अॊशिणररयों के मऱए 

(d) जन समरु्दणय के मऱए 

 

60. ववत्तीय वविरर् प्रर्दमशिि करिे हैं 

(a) मौहिक सचूनण 

(b) गुर्णत्मक सचूनण 

(c) अमौहिक सचूनण 

(d) इनमें से सभी 
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61. A, B और C, 5 : 3 : 2 के अनपुणि में ऱणभ बणॉटिे हैं। A अवकणश ग्रहर् करिण 
है। प्रणस्ति अनपुणि है 

(a) 3:2 

(b) 5:3 

(c) 5:2 

(d) इनमें से कोई नहीॊ 

 

62. अॊशों के जब्िी खणिे कण शषे पनुननिगमन के बणर्द हतिणनिररि ककयण जणिण है 

(a) सॊचय कोष में 

(b) पूॉजी सॊचय में 

(c) सणिणरर् सॊचय में 

(d) इनमें से कोई नहीॊ 

 

63. ननम्न में से ककसे कर पवूि शदु्ि ऱणभ में जोड़ण जणयेगण ? 
(a) कर के मऱए आयोजन  

(b) ह्रणस  

(c) ब्यणज में कमी 

(d) इनमें से कोई नहीॊ 

 

64. ववपर्न योग्य प्रनिभनूियों की बबक्री को हर्दखणयण जणयेगण 

(a) सॊचणऱन कक्रयणओॊ में 

(b) ववत्तीय कक्रयणओॊ में 

(c) ननवेश कक्रयणओॊ में 

(d) रोकड़ एवॊ रोकड़ समिुलय 
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65. भवन कण नकर्द क्रय है। 

(a) सॊचणऱन कक्रयण 

(b) ववत्तीय कक्रयण 

(c) ननवेश कक्रयण 

(d) इनमें से कोई नहीॊ  

 

66. ऋर्-समिण अनपुणि है। 

(a) िरऱिण अनपुणि 

(b) शोिन ऺमिण अनपुणि 

(c) कक्रयणशीऱिण अनपुणि 

(d) सॊचणऱन अनपुणि  

 

67. ननम्न में से कौन-सण एक गैर-रोकड़ मर्द नहीॊ है? 

(a) ऋर्पत्रों के शोिन हेिु अॊशों कण ननगिमन 
(b) नकर्द बबक्री 

(c) ह्रणस  

(d) अप्रणतय ऋर्ों के मऱए प्रणविणन 

 

68. कम्पनी कण उर्दणहरर् है 

(a) अम्बेर्दकर ब्रर्दसि 

(b) बणटण  

(c) भणरि एण्ड सनस 

(d) पटनण ववश्वववद्यणऱय 
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69. एक सणझरे्दणरी फमि के समणपन की र्दशण में सॊहर्दग्ि ऋर् के मऱए प्रणविणन कण 
हतिणनिरर् ककयण जणिण है 

(a) वसऱूी खणिण में 

(b) सणझरे्दणरों के पूॊजी खणिण में 

(c) ववववि रे्दनर्दणर खणिण में 

(d) इनमें से कोई नहीॊ 

 

70. अॊशिणररयों के मऱए ऱणभणॊश है 

(a) कर रे्दव रणमश 

(b) कर मकु्ि रणमश 

(c) ब्यणज 

(d) इनमें से कोई नहीॊ 

 

71. गैर-व्यणपणररक सॊतथणओॊ में रे्दयिणओॊ पर पररसम्पवत्तयों के आर्िक्य को कहिे हैं। 
(a) पूॉजी ननर्ि 

(b) पूॉजी 

(c) हणनन 

(d) ऱणभ 

 

72. कर के मऱए प्रणविणन है 

(a) चणऱ ूर्दणनयत्व 

(b) आनिररक सॊचय 

(c) (a) और (b) र्दोनों 

(d) इनमें से कोई नहीॊ 
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73. ननम्नमऱखखि मर्दों में से ककसे चणऱ ूअनपुणि की गर्नण में ध्यणन नहीॊ हर्दयण जणिण 
है?  

(a) ऱेनर्दणर 

(b) रे्दनर्दणर 

(c) फनीचर 

(d) बैंक अर्िववकषि  

 

74. प्रववृत्त प्रनिशि की गर्नण के मऱए ककसी भी वषि कण चयन ककयण जणिण है 

(a) चणऱ ूवषि 

(b) गि वषि 

(c) आिणर वषि 

(d) इनमें से कोई नहीॊ 

 

75. समणन आकणर के आर्थिक र्चट्ठण में कुऱ समिण एवॊ र्दणनयत्वों को बरणबर मणनण जणिण 
है। 

(a) 1000 

(b) 100 

(c) 10 

(d) 1 

 

76. ऺैनिज ववश्ऱेषर्........... नणम से भी जणनण जणिण है। 

(a) शीषि ववश्ऱेषर्  

(b) आनिररक ववश्ऱेषर् 

(c) गनिशीऱिण ववश्ऱेषर् 

(d) बणह्य ववश्ऱेषर् 
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77. ऋर्पत्रों कण शोिन ककयण जण सकिण है 

(a) ऱणभ में से 

(b) पूॉजी से 

 

(c) प्रणविणन स े

(d) इनमें से सभी  

 

78, हरर् ककये गये अॊशों के पनु्ननगिमन पर र्दी गई छूट को डबेबट ककयण जणिण है। 

(a) ऱणभ-हणनन खणिण में  

(b) सणमणनय सॊचय खणिण में 

(c) अॊश पूॉजी खणिण में 

(d) अॊश हरर् खणिण में 

 

79. एक कम्पनी अपने अॊशों को प्रीममयम पर भणरिीय कम्पनी अर्िननयम, 2013 को 
ककस िणरण के अनिगिि जणरी करिी है ? 

(a) 78 

(b) 52 

(c) 79 

(d) 80 

 

80. फमि के ववघटन पर बैंक अर्िववकषि को हतिणॊिररि ककयण जणिण है 

(a) रोकड़ खणिण में 

(b) बैंक खणिण में 

(c) वसऱूी खणिण में 

(d) सणझरे्दणर के पूॉजी खणिों में 
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81. एक सणझरे्दणरी फमि में सणझरे्दणरों की अर्िकिम सॊख्यण होिी है 

(a) 50 

(b) 10 

(c) 15 

(d) 20 

 

82. सणझरे्दणरी फमि के पनुगिठन पर सम्पवत्तयों के मलूय में वदृ्र्ि कण पररर्णम होिण है 

(a) वमिमणन सणझरे्दणरों को ऱणभ 

(b) वििमणन सणझरे्दणरों को कोई नहीॊ 

(c) वििमणन सणझरे्दणरों को न ऱणभ न हणनन 

(d) इनमें से कोई नहीॊ  

 

83. त्यणग अनपुणि ऻणि ककयण जणिण है। 
(a) सणझरे्दणर की मतृ्य ुहोने पर  

(b) सणझरे्दणर के अवकणश ग्रहर् करने पर 

(c) सणझरे्दणर के प्रवेश पर 

(d) इनमें से कोई नहीॊ 

 

84. सणझरे्दणर के पूॊजी खणिे के प्रणरस्म्भक शषे को के्रडडट ककयण जणिण है 

(a) पूॉजी पर ब्यणज 

(b) आहरर् पर ब्यणज 

(c) आहरर् 

(d) हणनन में हहतसण 
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85. ककसी सणझरे्दणर के अवकणश ग्रहर् होने पर उसके पूॉजी खणिे को जमण ककयण जणयेगण 

(a) उसके भणग की ख्यणनि के सणथ 

(b) फमि की ख्यणनि के सणथ 

(c) शषे सणझरे्दणरों की ख्यणनि की हहतसण के सणथ 

(d) इनमें से कोई नहीॊ 

 

86. बकणयण चनर्दण है. 

(a) आय 

(b) सम्पवत्त 

(c) र्दणनयत्व 

(d) इनमें से कोई नहीॊ 

 

87. परुणने अखबणरों की बबक्री है 

(a) पूॉजीगि प्रणस्ति 
(b) आयगि प्रणस्ति 

(c) सम्पवत्त 

(d) ऱणभ 

 

88. वणतिववक ऱणभ के सणमणनय ऱणभ पर अर्िक्य है। 

(a) असणमणनय ऱणभ 

(b) अर्िऱणभ 

(c) तथणयी ऱणभ 

(d) पूॉजी ऱणभ 
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89. AB और C, 3 : 4 : 3 के अनपुणि में ऱणभ कण ववभणजन करिे हुए सणझरे्दणर हैं। B 
अवकणश ग्रहर् करिण है और A िथण C अपनण ऱणभ समणन अनपुणि में बणॉटिे हैं। A 
और C कण नयण अनपुणि होगण 

(a) 1:2 

(b) 2:1 

(c) 3: 1 

(d) 1:1 

 

90. सणझरे्दणर की मतृ्य ुहोने पर अस्निम भगुिणन होिण है 

(a) पूॉजी खणिण से 

(b) ननष्पणर्दक खणिे से 

(c) चणऱ ूखणिण से 

(d) ऋर् खणिण से  

 
91. जब आहरर् कण समय न हर्दयण हो िो आहरर् पर ब्यणज ऱगणयण जणिण है। 

(a) 6 1
2
  मणह के मऱए 

(b) 6 मणह के मऱए 

(c) 9 मणह के मऱए 

(d) 12 मणह के मऱए 

 

92. ऋर्पत्र भणग होिण है 

(a) अॊश पूॉजी कण 

(b) कर् कण 

(c) तवणममत्व पूॉजी कण 

(d) इनमें से कोई नहीॊ 
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93. ऋर्पत्र पर ब्यणज की र्दर होिी है। 

(a) 12% p.a. 

(b) 15% p.a. 

(c) ननस्श्चि र्दर 

(d) 20% p.a. 

 

94. कम्पनी के मऱए ऋर्पत्रों के ननगिमन पर कटौिी है। 

(a) पूॉजीगि ऱणभ 

(b) पूॉजीगि हणनन 

(c) आयगि ऱणभ 

(d) आयगि हणनन 

 

95. सणिणरर्ियण ऋर्पत्र होिे हैं 
(a) सरुक्षऺि 

(b) असरुक्षऺि 

(c) अॊशि: सरुक्षऺि 

(d) इनमें से कोई 

 

96. अॊशों के ननगिमन के पवूि कौन सण वववरर् जणरी ककयण जणिण है ? 

(a) प्रवववरर् पत्र 

(b) अनिननियम 

(c) सीमण पणषिर्द ननयम 

(d) इनमें से सभी 
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97. कम्पनी अर्िननयम 2013 की ककस िणरण के प्रणविणनों के अनिगिि कम्पनी बट्टे 
पर अॊशों कण ननगिमन कर सकिी है ? 

(a) 78 

(b) 53 

(c) 52 

(d) 54 

 

98. अॊशों के ननगिमन पर बड़ण बट्टण है 

(a) पूॉजीगि ऱणभ  

(b) पूॉजीगि हणनन 

(c) आयगि ऱणभ 

(d) आयगि हणनन 

 

99. अॊश आवॊटन खणिण है 
(a) व्यस्क्िगि खणिण 

(b) वणतिववक खणिण 

(c) नणममणत्र खणिण 

(d) इनमें से कोई नहीॊ  

 

100. कॊ पनी के प्रवििकों को अॊश जणरी करने पर ककस खणिण को डबेबट ककयण जणिण है? 

(a) अॊश पूॉजी खणिण 

(b) सम्पवत्त खणिण 

(c) प्रवत्तिक खणिण  

(d) ख्यणनि खणिण 
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SECTION-B 

ऱघ ुउत्तरीय प्रश्न 

 

प्रश्न सॊख्यण 1 से 30 िक ऱघ ुउत्तरीय हैं। इनमें से ककनहीॊ 15 प्रश्नों के उत्तर र्दें। प्रत्येक 
के मऱए 2 अॊक ननिणिररि है। 

 

1. एक सणझरे्दणरी फमि की ख्यणनि को प्रभणववि करने वणऱे ककनहीॊ चणर घटकों के नणम 
बिणइए  

2. त्यणग अनपुणि क्यण है ? 

3. ककनहीॊ र्दो कणरर्ों को बिणयें स्जसके कणरर् एक सणझरे्दणरी फमि कण पनुगिठन ककयण 
जणिण। 

4. सणझरे्दणरी फमि के ववघटन की र्दो महत्त्वपरू्ि रीनियणॉ कौन-सी हैं ? 

5. ख्यणनि की र्दो ववशषेिणएॉ बिणइए। 

6. तवटै समिण अॊश क्यण है ? 
7. अर्िकृि अॊश पूॉजी क्यण है ? 

8. अॊशों के हरर् एवॊ अॊशों के समपिर् में अॊिर कीस्जए। 

9. अॊश एवॊ ऋर् पत्र में र्दो प्रमखु अनिर बिणयें। 

10. तटॉक आविि अनपुणि क्यण है ? 

11. तथणयी पूॉजी िथण पररवििनशीऱ पूॉजी से आप क्यण समझिे हैं ? 

12. ऐसी र्दो मर्दें बिणइये जो ककसी सणझरे्दणर की मतृ्य ुपर उसके पूॉजी खणिे में के्रडडट की 
जणिी है। 

13. चणऱ ूअनपुणि क्यण है ? 

14. गैर-रोकड़ मर्द ककसे कहिे हैं ? 

15. समवपिि मलूय क्यण है ? 

16. कोष आिणररि ऱेखणॊकन क्यण है ? 

17. प्रणस्ति-भगुिणन खणिण के र्दो उद्रे्दश्य बिणइए। 
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18. सणझरे्दणरी की पररभणषण र्दीस्जए। 

19. X और Y एक फमि में सणझरे्दर्दणर हैं जो 2:1 के अनपुणि में ऱणभ-हणनन कण ववभणजन 
करि ेहैं| Z को ऱणभ में 1/4 हहतसण से नयण सणझरे्दणर बनणयण जणिण है। नयण ऱणभ 
ववभणजन अनपुणि ऻणि कीस्जए। 

20. ऱणभ-प्रणस्ति अनपुणि की गर्नण कैसे की जणिी है ? 

21. ककसी सणझरे्दणर के अवकणश ग्रहर् ककये जणने के कोई र्दो िरीके बिणइये। 

22. वसऱूी खणिण कब एवॊ क्यों िैयणर ककयण जणिण है ? 

23. कम्पनी की पररभणषण र्दीस्जए। 

24. अर्िकणर अॊश क्यण है ? 

25. ऋर्पत्र के कोई र्दो प्रकणर बिणइए। 

26. कूपन र्दर क्यण होिी है ? 

27. कणयिशीऱ पूॊजी से आप क्यण समझिे हैं ? 

28. रोकड़ प्रवणह वववरर् क्यण है ? 

29. प्रववृत्त ववश्ऱेषर् कण अथि क्यण है ? 
30. यहर्द कुऱ र्दणनयत्व 4,38,000 रु० और चणऱ ूर्दणनयत्व 87,600 रु० हो िो चणऱ ू
र्दणनयत्व कुऱ र्दणनयत्व कण ककिनण प्रनिशि है ? 

 

र्दीघि उत्तरीय प्रश्न 

प्रश्न सॊख्यण 31 से 38 िक र्दीघि उत्तरीय हैं। इनमें से ककनहीॊ 4 प्रश्नों के उत्तर र्दें। प्रत्येक 
के मऱए 5 अॊक ननिणिररि है। 

 

31. आवॊर्दन पर 6 रु० प्रनि अॊश 2 रु० प्रीममयम सहहि भगुिणन नहीॊ ककये जणने के 
कणरर् X मऱ. ने 10 रु० वणऱे 2000 अॊशों (परू्ि यणर्चि) कण हरर् कर मऱयण। पनु् इन 
अॊशों को 9 रु० परू्िर्दत्त Y को पनु् ननगिममि ककये गये रोजनणमचण की प्रववस्ष्टयों 
कीस्जए। 

32. रोकड़ प्रवणह वववरर् क्यण है ? इसे कैसे िैयणर ककयण जणिण है ? 
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33. X, Y और Z सणझरे्दणरी में 2:3:1 के अनपुणि में ऱणभ-हणनन बणॉटिे हैं। वषि के प्रणरम्भ 
में X अवकणश ग्रहर् करिण है और अपने हहतसे को Y और Z को 1,60,000 रु० में बेच 
रे्दिण है स्जनमें से 60,000 रु० Y रे्दिण है और 1,00,000 रु० Z रे्दिण है। X के अवकणश 
ऱेने के बणर्द फमि कण उस वषि कण ऱणभ 2,40,000 रु० है। नये ऱणभ-हणनन ववभणजन 
अनपुणि की गर्नण करें िथण अॊश बेचने और ऱणभ बणॉटने की प्रववस्ष्टयणॉ कीस्जए| 

 

34. ननजी कम्पनी एवॊ सणविजननक कम्पनी में अनिर बिणयें। 

 

35. वसऱूी खणिे में ववववि सम्पवत्तयों की हतिणनिररि रणमश 3,20,000 रू थी उसमें से 
60% को 8,000 रु० के ऱणभ पर बेचण गयण है। शषे के 20% को 30% बट्टे पर िथण 
बच ेहुए रमेश (सणझरे्दणर) द्वणरण पतुिकीय मलूय पर ऱे मऱयण गयण। रोजनणमच ेकी 
आवश्यक प्रववस्ष्टयणॉ कीस्जए। 

 

36. ववत्तीय वववरर् के ववश्ऱेषर् कण क्यण महत्त्व है ? 
37. एक कम्पनी की चणऱ ूसम्पवत्तयणॉ 15,00,000 रु० है । इसकण चणऱ ूअनपुणि 3:1 है 
िथण िरऱिण अनपुणि 1.25 : 1 है। इसकी चणऱ ूरे्दयिणएॉ, िरऱ सम्पवत्तयों िथण इनवेंरी 
की गर्नण कीस्जए। 

 

38. ननम्न सचूनण से ननवेश सम्बनिी कक्रयणओॊ से रोकड़ प्रवणह की गर्नण कीस्जए 

ववत्तीय वषि 2019-20 (रु०) 2020-21 (रु०) 

पेटेनट्स 90,000 1,15,000 

भमूम 1,00,000 90,000 

सॊयॊत्र एवॊ मशीन 1,80,000 1,70,000 

फनीचर 1,00,000 2,25,000 

10% ननवेश 2,00,000 1,80,000 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2022 

इंटरमीडिएट परीक्षा - 2022 
(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

Instructions for the candidates: 

1. Candidate must enter his/her Question Booklet Serial No. (10 Digits) in the OMR 

Answer Sheet.  

2. Candidates are required to give their answers in their own words as far as practicable. 

3. Figures in the right hand margin indicate full marks. 

4. 15 minutes of extra time have been allotted for the candidates to read the questions 

carefully. 

5. This question booklet is divided into two sections-Section-A and Section B.  

6. In Section-A, there are 100 objective type questions, out of which any 50 questions are 

to be answered. First 50 answers will be evaluated in case more than 50 questions are 

answered. Each question carries 1 mark. For answering these darken the circle with blue 

/ black ball pen against the correct option on OMR Answer Sheet provided to you. Do 

not use whitener /liquid/blade/nail etc. on OMR Answer Sheet, otherwise the result will 

be invalid. 

7. In Section-B, there are 30 short answer type questions. Each question carries 2 marks, 

out of which any 15 questions are to be answered. Apart from these, there are 8 long 

answer type questions, Each question carries 5 marks, out of which any 4 questions are 

to be answered.  

8. Use of any electronic appliances is strictly prohibited. 

 

SECTION-A (OBJECTIVE TYPE QUESTIONS) 

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any 

50 questions. You have to mark your selected correct option on the OMR-Sheet. 

1. A, B and C are sharing profits in 3:2:1 ratio. C retires. Gaining ratio will be 

(a) 2:1 

(b) 2:3 
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(c) 3:2 

(d) 1:2 

 

2. If goodwill is existing in the Balance sheet, it will be credited to  

(a) Gaining partners capital A/c  

(b) Retiring partners' capital A/c 

(c) All partners' capital A/c 

(d) Remaining partners' capital A/c  

 

3. Income and Expenditure Account is prepared by 

(a) Company  

(b) Partnership Firm 

(c) NGO 

(d) Insurance Company 

 

4. Which of the following is not a profitability ratio? 

(a) Gross Profit Ratio  

(b) Net profit Ratio  

(c) Current Ratio 

(d) Operating Ratio 

 

5. Subscription received by a club for cricket match is treated as 

(a) Revenue Receipt 

(b) Asset 

(c) Earned income  

(d) Capital Receipt 

 

6. Current ratio is 1:2, current liabilities Rs. 50,000, then the current assets will be 

(a) Rs. 1,00,000  

(b) Rs. 50.000  

(c) Rs. 25.000  

(d) Rs. 75,00 
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7. Break-even point refers to theat point where 

(a) Total costs are more than total sales 

(b) Total costs are less than total sales 

(c) Total costs are half of the total sales 

(d) Total costs are equal to total sales 

 

8. Premium on redemption of debenture is a 

(a) Personal A/c  

(b) Real A/c 

(c) Nominal A/c  

(d) Suspense A/c 

 

9. Loss on Issue of Debentures Account is shown  

(a) On Assets side fo Balance sheet 

(b) On Liabilities side of Balance sheet 

(c) On Credit side of P & LA/c  

(d) None of these 

 

10. Under which heading of Balance sheet, is General Reserve shown? 

(a) Miscellaneous Expenditure  

(b) Share capital 

(c) Reserves & Surpluses 

(d) None of these 

 

11. Which of the following is included in operating activities?  

(a) Income tax payment 

(b) Collection from customers 

(c) Cash payment to suppliers 

(d) All of these 
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12. Income tax refund is .............. of cash. 

(a) Source 

(b) Application  

(c) Both (a) and (b) 

(d) None of these 

 

13. Cash Flow statement is prepared from 

(a) Additional Information  

(b) Profit and Loss A/c 

(c) Balance sheet 

(d) All of these 

 

14. Interest on Partners' capital is 

(a) An expenditure 

(b) An appropriation 

(c) A gain  

(d) None of these  

 

15. Cash Balance in a Balance sheet is shown on dissolution of a firm in 

(a) Realisation Account  

(b) Cash Account  

(c) Capital Account 

(d) None of these 

 

16. Who are the real owners of the company? 

(a) Equity shareholders 

(b) Preference shareholders 

(c) Debenture holders 

(d) Both (a) and (b) 
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17. Which of the following items is included in Current Assets? 

(a) Patent  

(b) Investment 

(c) Stock 

(d) Machine 

 

18. Fixed Assets are shown at 

(a) Realisable value  

 (b) Cost price Less Depreciation 

(c) Cost price 

(d) Realisable value Less Depreciation  

 

19. The term Current Assets do not include 

(a) Stock 

(b) Debtors 

(c) Car 

(d) None of these 

 

20. Under which Section of Companies Act, the financial statement of  a company are 

prepared? 

(a) 128 

(b) 129 

(c) 289 

(d) 212 

 

21. Sinking Fund is a part of 

(a) Fixed Liabilities  

(b) Current Liabilities 

(c) Reserves & Surpluses 

(d) Fixed Assets 
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22. The popular method (s) of calculating goodwill is/are  

(a) Average Profit Method 

(b) Super Profit Method 

(c) Capitalisation of Profit Method  

(d) All of these 

 

23. Donation received for specific objective will be shown in 

(a) Income & Expenditure A/c 

(b) Receipts & Payments A/c 

(c) Liabilities side of Balance sheet  

(d) Assets side of Balance sheet  

 

24. Receipts and Payments Account usually indicates 

(a) Surplus  

(b) Capital Fund 

(c) Debit Balance 

(d) Credit Balance 

 

25. Change in the partnership agreement results in 

(a) Reconstitution of Firm 

(b) Dissolution of Firm  

(c) Amalgamation of Firm 

(d) None of these 

 

26. Life membership fees received by a club are shown in 

(a) Income & Expenditure A/c  

(b) Balance sheet  

(c) Receipts and Payments A/c 

(d) Revenue Account 
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27. Payment of honorarium to chairman is treated as 

(a) Capital Expenditure  

(b) Revenue Expenditure 

(c) Deferred Expenditure 

(d) Income 

 

28. What will be the effect on partnership firm while a new partner adimts ? 

(a) Old firm is dissolved 

(b) Old firm and old partnership are dissolved 

(c) Old partnership is reconstituted  

(d) None of these 

 

29. A and b are partners sharing profit equally. They admit C for 
1

5
th share who 

contributed Rs. 25,000 for his share of goodwill. The total value of goodwill of firm will 

be. 

(a) Rs. 2,50,000 

(b) Rs. 50,000 

(c) Rs. 1,00,000  

(d) Rs. 1,25,000 

 

30. Profit and Loss Adjustment A/c is a 

(a) Personal A/c 

(b) Nominal A/c  

(c) Real A/c 

(d) None of these 

 

31. Dividends are usually paid on 

(a) Authorised capital  

(b) Issued capital 

(c) Paid-up capital 

(d) Called-up capital 
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32. Right shares are issued to 

(a) Promoters 

(b) Holders of convertible debentures 

(c) Existing shareholders.  

(d) All of these 

 

33. Generally Annual Report of a company is published 

(a) At first day of financial year  

(b) On the last day of financial year  

(c) On completion of accounting year 

(d) None of these  

 

34. A company is incorporated 

(a) by a special Act of Parliament 

(b) by Companies Act 

(c) by Agreement of Investors 

(d) by Members 

 

35. A new company cannot issue its shares 

(a) at par 

(b) at premium 

(c) at discount  

(d) at face value 

 

36. Which of the following is not the limitation of financial statements ? 

(a) Lack of accuracy 

(b) Based on historical facts  

(c) Basis of valuation 

(d) Information of profit and los 
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37. Preparation of Cash Flow statement is  

(a) mandatory  

(b) recommendatory 

(c) required under the Companies Act 

(d) none of these 

 

38. Which of the following items is not considered cash equivalent ? 

 (a) Cash at Bank  

(b) Commercial papers 

(c) Treasury Bills 

(d) Investment 

 

39. Which of the following is not an example of cash outflow? 

(a) Repayment of Loans  

(b) Decrease in creditors  

(c) Issue of debentures 

(d) None of these 

 

40. Interest received on investment by a financing company is shown under 

(a) Operating Activities 

(b) Investing Activities 

(c) Financing Activities 

(d) Cash & Cash Equivalent 

 

41. On firm's dissolution, which one of following accounts should be prepare at the last? 

(a) Realisation A/c 

(b) Partners' capital A/c 

(c) Cash A/c 

(d) Parners' Loan A/c 
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42. The balance of Revaluation account is transferred to old Partners' capital accounts in 

their  

(a) Old Profit-sharing Ratio 

(b) New Profit-sharing Ratio 

(c) Equal Ratio  

(d) Capital Ratio 

 

43. A and B are partners in a firm. C is admitted for 
1

4
th share. The sacrificing ratio of A 

and B will be 

(a) 1:1 

(b) 1:2 

(c) 2:1 

(d) 1:4 

 

44. A firm can be voluntarily dissolved by the partners 

(a) on members' decision  

(b) on half of the members' decision 

(c) on majority basis 

(d) none of these 

 

45. Profit/Loss on Realisation account is distributed among partners 

(a) in Profit-sharing Ratio 

(b) in Capital Ratio 

(c) equally 

(d) none of these 

 

46. On dissolution of a firm, partners' loan A/c is transferred to 

(a) Realisation A/c 

(b) Partners' Capital A/c 

(c) Partners' Current A/c 

(d) none of these 
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47. The monetary value of reputation of the business is called  

(a) Surplus 

(b) Goodwill 

(c) Super profit 

(d) Abnormal profit 

 

48. Which of the following is not transferred to Realisation A/c ?  

(a) Creditors 

(b) Debtors 

(c) Realisation Expenses 

(d) Cash Balance 

 

49. On payment of the Realisation expenses by a partner on dissolution of a firm, which 

account will be debited? 

(a) Cash Account  

(b) Partners' Capital Account 

(c) Realisation Account 

(d) Profit & Loss Account 

 

50. Sundry creditors of Rs. 10,000 were paid at 5% discount. Realisation A/c will be 

debited by 

(a) Rs. 10,000  

(b) Rs. 9,500 

(c) Rs. 500  

(d) Rs. 10,500 

 

51. Increase in the value of assets on reconstruction of the partnership firm results to 

(a) Gain to the existing partners  

(b) Loss to the existing partners 

(c) Neither a gain nor a loss to the existing partners  

(d) None of these 
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52. Income and expenses related to prize fund are shown in 

(a) Income and expenditure A/c 

(b) Assets side of the Balance sheet 

(c) Liabilities side of the Balance sheet 

(d) Cash A/c 

 

53. Income and Expenditure A/c records transactions of  

(a) Capital nature only 

(b) Revenue nature only 

(c) Both revenue and capital nature 

(d) None of these 

 

54.  Which of the following is not an income? 

(a) Subscription 

(b) Donation 

(c) Sale of Ticket  

(d) Endowment Fund 

 

55. Current Ratio is  

(a) Activity Ratio  

(b) Profitability Ratio  

(c) Liquidity Ratio 

(d) Solvency Ratio 

 

56. The ideal Liquidity Ratio is  

(a) 2:1  

(b) 1:1 

(c) 0.5:1 

(d) 1:5 
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57. Under which head share capital is shown in Balance sheet ? 

(a) Authorised capital  

(b) Issued capital  

(c) Paid-up capital 

(d) Shareholders' Fund 

 

58. Financial statements are 

(a) Anticipated Facts 

(b) Recorded Facts  

(c) Estimated Facts 

(d) None of these 

 

59. Annual Report is issued by a company mainly to 

(a) Directors 

(b) Auditors 

(c) Shareholders 

(d) Public 

 

60. Financial statement discloses 

(a) Monetary information 

(b) Qualitative information 

(c) Non-monetary information 

(d) All of these  

 

61. A, B and C are partners with profit sharing ratio of 5:3:2. A retires. The gaining ratio 

is 

(a) 3:2 

(b) 5:3  

(c) 5:2 

(d) None of these 
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62. Balance of share foreited A/c after re-issue, is transferred to 

(a) Reserve Fund 

(b) Capital Reserve 

(c) General Reserve 

(d) None of these 

 

63. Which of the following will be added to Net Profit before Tax?  

(a) Provision for Taxation 

(b) Depreciation 

(c) Decrease in Interest 

(d) None of these 

 

64. Sale of marketable securities will be shown under 

(a) Operating Activities 

(b) Financing Activities  

(c) Investment Activities 

(d) Cash and Cash Equivalents 

 

65. Purchase of Building for cash is 

(a) Operating Activity 

(b) Financing Activity 

(c) Investment Activity  

(d) None of these 

 

66, Debt-Equity Ratio is 

(a) Liquidity Ratio  

(b) Solvency Ratio  

(c) Activity Ratio 

(d) Operating Ratio 
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67. Which one of the following is not a non-cash item? 

(a) Issue of shares for redemption of Debentures 

(b) Cash sales 

(c) Depreciation 

(d) Provision for Bad Debts 

 

68. Example of company is 

(a) Ambedkar Brothers 

(b) Bata  

(c) Bharat & Sons 

(d) Patna University 

 

69. On dissolution of a partnership firm, the provision for doubtful debts is transferred to  

(a) Realisation account 

(b) Partners' capital account  

(c) Sundry debtors account  

(d) None of these 

 

70. Dividends for the shareholders are 

(a) Payable tax amount  

(b) Tax-free amount  

(c) Interest 

(d) None of these 

 

71. The excess of assets over liabilities in a non-trading concern is treated 

(a) Capital Fund 

(b) Capital  

(c) Loss  

(d) Profit 
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72. Provision for tax is 

(a) Current Liability  

(b) Internal Reserve 

(c) Both (a) and (b) 

(d) None of these 

 

73. Which of the following items is not taken into consideration while  computing 

current ratio? 

(a) Creditors 

(b) Debtors 

(c) Furniture 

(d) Bank Overdraft 

 

74. For calculating trend percentage in any year is selected as 

(a) Current year  

(b) Previous year  

(c) Base year  

(d) None of the  

 

75. In a common-size Balance sheet, total equity and liabilities are assumed to be equal 

to 

(a) 1000  

(b) 100 

(c) 10 

(d) 1 

 

76. Horizontal Analysis is also known as 

(a) Vertical Analysis  

(b) Internal Analysis 

(c) Dynamic Analysis 

(d) External Analysis 
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77. Debentures can be redeemed out of 

(a) Profit 

(b) Capital  

(c) Provision 

(d) All of these 

 

78. Discount allowed on re-issue of forfeited shares is debited to  

(a) Profit and Loss Account 

(b) General Reserve A/c 

(c) Share Capital A/c 

(d) Share Forfeiture A/c 

 

79. A company issues its shares at a premium under which Section of the Indian 

Companies Act, 2013? 

(a) 78 

(b) 52 

(c) 79 

(d) 80 

 

80. On dissolution of a firm, Bank Overdraft is transferred to 

(a) Cash Account  

(b) Bank Account 

(c) Realisation Account 

(d) Partners' Capital Account 

 

81. In a partnership firm, the maximum number of members is 

(a) 50  

(b) 10 

(c) 15 

(d) 20 
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82. Increase in the value of assets on reconstitution of the partnership firm result to 

(a) Gain to the existing partners  

(b) Loss to the existing partners 

(c) Neither gain nor loss to the existing partners 

(d) None of these  

 

83. Sacrifice Ratio is ascertained at the 

(a) Death of a partner 

(b) Retirement of a partner  

(c) Admission of a partner 

(d) None of these. 

 

84. The opening balance of partner's capital A/c is credited with 

(a) Interest on capital  

(b) Interest on drawing  

(c) Drawings 

(d) Share in loss 

 

5. On retirement of a partner, his/her capital account will be credited with  

(a) His/her share of goodwill  

(b) Goodwill of the firm 

(c) Share of goodwill of remaining partners  

(d) None of these 

 

86. Outstanding subscription is a/an 

(a) Income 

(b) Asset 

(c) Liability 

(d) None of these 
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87. Sale of old newspapers is 

(a) Capital Receipt.  

(b) Revenue Receipt.  

(c) Asset 

(d) Profit 

  

88. The excess of actual profit over the normal profit is called 

(a) Abnormal Profit  

(b) Super Profit  

(c) Fixed Profit 

(d) Capital Profit 

 

89. A, B and C are partners sharing profits in the ratio of 3:4:3. B retires and A and C 

share their profits in equal ratio. New ratio of A and C will be 

(a) 1:2  

(b) 2:1  

(c) 3:1 

(d) 1:1  

 

90. On the death of a partner in a firm final payments are made through 

(a) Capital A/c  

(b) Executor's A/c 

(c) Current A/c 

(d) Loan A/c 

 

91. When time of withdrawals is not mentioned, interest on drawings is charged for 1 

6/24 

(a) 6
1

2
 months  

(b) 6 months 

(c) 9 months 

(d) 12 months 
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92. Debenture is the part of 

(a) Share capital  

(b) Loan  

(c) Owned capital  

(d) None of these 

 

93. Rate of interest on debenture is 

(a) 12% p.a 

(b) 15% p.a 

(c) Fixed Rate 

(d) 20% p.a.  

 

94. For a company discount on issue of debentures is 

(a) Capital profit  

(b) Capital loss 

(c) Revenue profit 

(d) Revenue loss 

 

95. Generally debentures are  

(a) Secured 

(b) Unsecured 

(c) Partly secured 

(d) None of these 

 

96. Which statement is issued before the issue of shares ? 

(a) Prospectus 

(b) Articles of Association 

(c) Memorandum of Association 

(d) All of these 

 

bsebresult.in



 

97. A company can issue its shares at discount under the provisions of which Section of 

Companies Act, 2013? 

(a) 78  

(b) 53 

(c) 52 

(d) 54 

 

98. Discount on issue of shares is a 

(a) Capital Gain 

(b) Capital Loss 

(c) Revenue Gain  

(d) Revenue Loss 

 

99. Share allotment account is 

(a) Personal A/c  

(b) Real A/c 

(c) Nominal A/c 

(d) None of these  

 

100. On issue of shares to promoters, which account is debited? 

(a) Share capital A/c 

(b) Assets A/c 

(c) Promoter's A/c  

(d) Goodwill A/c  

 

SECTION-B (NON-OBJECTIVE TYPE QUESTIONS) 

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 question Each questions 

carries 2 marks.  

1. Name any four factors affecting Goodwill of partnership firm. 

2. What is sacrificing ratio? 

3. Stae any two reasons on which a partnership firm is reconstituted.  
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4. What are the two important modes of dissolution of partnership firm? 

5. State two features of goodwill.  

6. What is sweat equity share? 

7. What is Authorised share capital? 

8. Distinguish between forfeiture of share and surrender of share. 

9. Give two main points of distinction between share and debenture. 

10. What is Stock Turnover Ratio?  

11. What do you mean by Fixed capital and Fluctuating capital? 

12. Name two items which are credited to the capital of the deceased partner  

13. What is Current Ratio ? 

14. What is non-cash item?  

15. What is surrender value? 

16. What is Fund-based Accounting?  

17. State two objectives of Receipts and Payments Account. 

18. Define partnership. 

 

19. X and Y are partners sharing profits and losses in the ratio 2: 1. Z is to be admitted as 

a new partner for 1/4th share in profit. Calculate new profit-sharing ratio. 

20. How is gaining ratio calculted? 

21. State any two modes of retirement of a partner. 

22. When and why is Realisation Account prepared? 

23. Define company. 

24. What is Right share? 

25. Name any two types of debenture.  

26. What is Coupon Rate? 

27. What do you mean by working capital? 

28. What is cash flow statement? 

29. What is the meaning of Trend Analysis?  

30. If total liabilities stand at Rs. 4,38,000 and current liabilities are Rs. 87,600 calculate 

percentage of current liabilities to total liabilities.  
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Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions. Each question 

carries 5 marks. 

 

31. X Ltd. forfeited 2000 shares fo Rs. 10 each (fully paid up) for the non- payment of 

the allotment money of Rs 6 per share including Rs. 2 as fremium. All these shares were 

re-issued to Y at Rs 9 per share fully paid. Give Journal Entries. 

32. What is Cash Flow Statement? How is it prepared?  

33. X, Y and Z are partners sharing profits and losses in the ratio of 2:3:1. At the 

beginning of the year X retires after selling his share to Y and Z for Rs. 1,60,000 firm for 

the year after X's retirement is Rs. 2,40,000. Calculate new profit and loss sharing ratio 

and pass entries for sale of share and distribution of profit. https://www.bsebstudy.com 

34. Differentiate between Private company and Public company. 

35. The amount of sundry assets transferred to Realisation Account was Rs. 3,20,000. 

60% of the Assets have been sold at a profit fo Rs. 8,000, 20% of the remaining were 

sold at a discount of 30% and remaining were taken over by Ramesh (a partner) at book 

value. Pass necessary Journal Entries.  

36. What is the importance of analysis of Financial statements?    

37. The Current Assets of a company are Rs. 15,00,000. Its current Ratio is 3:1 and 

Liquid Ratio is 1.25 : 1. Calculate the amount of Current Liabilities, Liquid Assets and 

Inventory. 

 

38. From the following information, calculate cash flow from investing activities: 

FY: 2019-20 

(Rs.) 

2020-21 

(Rs.) 

Patents 90,000 1,15,000 

Land 1,00,000 90,.000 

Plant and Machinery 1,80,000 170,000 

Furniture 1,00,000 2,25,000 

10% Investment 2,00,000 1,80,000 
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